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import pandas as pd

import matplotlib.pyplot as plt

def count_occurrences(file_path, sheet_name, column_name, word):
df = pd.read_excel(file_path,
count =

=sheet_name) \

df[column_name].str.contains(word,
return count

=False).sum()

file_path =
column_name

A=E HS A2t py (line 1-12)

years = list(data.keys())
counts = [datalyear]['#S%%'] for year in years]

numeric_years = [int(year) for year in years]

plt.figure(
plt.plot(

=(10, 6))

numeric_years, counts,

for i, year in
plt.annotate( te

(numeric_years[i], counts[il),

=(0,10), center’',

plt.title
plt.xlabe
plt.ylabel('
plt.xticks(ni
plt.legend()
plt.grid(True)

plt.show() A= X2 A[2t py (line 50-66)
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